
test oficjalny

matematyka

Poziom trudności: Średni

1. 30*7=

A - 123

B - 456

C - 210

2. 987-900=

A - 89

B - 87

C - 86

D - 32

3. sumę 90 pomnóż  przez 9

A - 987

B - 810

C - 987

4. 5*5=

A - 32

B - 25

5. 32-31=

A - 1

B - 2

C - 3

D - 4

6. 1234*98=

A - 120932

B - 999999

C - 888888
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D - 123456

7. 100+2000=

A - 2100

B - 3245

8. 32-31=

A - 1

B - 2

C - 3

D - 4
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test oficjalny

matematyka

Poziom trudności: Średni

Karta odpowiedzi

1. C

2. B

3. B

4. B

5. A

6. A

7. A

8. A
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